AFR 1 (AFHERER, MEVEERENTER, BRIZNERERR U RERMERR)

EFBNONE
[Fhivl &
B RTR ) Rt B
BlIR F 1R =
L Y| A
S S IBEHE | smme | mepay | BRBRY R
~ sxmmmns || REE BEREE | RRE A
% % % %
9% A Ty RAARX 1] 0.06 0.9 - 0.02
2 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 3.98 1.5 - 3.03
2% 2.21 1.3 - 1.57
3| 1.05 0.9 - 0.88




HFBHIDIESE

x=
TERRE e Frr B
Aallg %1 X -
L =y A
—_— cmam | CPPUEREIE L same | mpman | mERS Rk
e > S IR E AT RER PEBEE Hpgk HpER
% % % %
18 ElERAX 12 1.43 5.7 — 2.25
2% 5.06 4.0 — 1. 60
3% 3.44 3.0 - 1.01
FHEzRAX 2% 1.13 5.5 — 2.14
3% 4.61 3.7 — 1.46
4 F| 3.01 2.8 — 0. 81




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
AR £ 11X ARERH
axn | smmm | o ooon | owEme | aemEw | m@Es | ERG
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 4. 81 1.6 - 3.70
2 F| 2.75 1.4 — 1.93
3 &l 0.86 1.0 — 0. 61
7% igi4f T v o RAK 18 4.33 1.6 - 3.24
2 & 2.25 1.2 — 1.67
3E| 0.87 0.9 — 0.7
H#HIERT R4 g HRET B AL
AL # 1 RHE BIRERET
mxn | smmm | o ooon | owaEme | aemEw | m@Es | ERG
spmEs s | EE SRBEER 2R R
% % % %
6 %8 igi4A T v RAK 18 9.09 2.0 - 7.38
2 Z| 6.87 1.6 — 5.68
3 &l 4.89 1.6 — 3.78
7% igif T v RAK 18 8.93 1.6 - 7.66
2 & 7.35 1.6 — 6.14
3E| 5.40 1.6 — 4.21
ERE AT IR 4 Hh 33 #iEt B hig
AR 1K AR/t
s | mmax | oenn | REme | mEmEw | mRmR | REe
spmEEs s | EE BEWEE R R
% % % %
6 %8 igi4A T v RAK 18 3.10 1.5 - 2.19
2 Z| 1.48 1.1 — 1.04
3 &l 0.37 0.9 — 0.23
7% igif T v RAK 18 2.96 1.5 - 2.03
2 Z| 1.50 1.1 — 1.12
3E| 0.67 0.9 — 0.52




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
aIIE B 1R BB ST
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 5.96 1.6 - 4.82
2 F| 4.16 1.3 — 3.39
3 &l 2.84 1.1 — 2.4
7% igi4f T v o RAK 18 9.56 1.9 - 7.93
2 & 7.80 1.6 — 6.57
3E| 6.14 1.3 — 5.29
H#HIERT R4 g HRET B AL
AR £ 11X BINREEMT
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
6 %8 igi4A T v RAK 18 5.22 2.1 - 3.58
2 Z| 2.60 1.3 — 1.89
3 &l 0.92 1.1 — 0.57
7% igif T v RAK 18 7.20 2.0 - 5.58
2 & 4.95 1.5 — 3.96
3E| 3.12 1.2 — 2.50
ERE AT IR 4 Hh 33 #iEt B hig
AR 1K ANEmMET
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
6 %8 igi4A T v RAK 18 2.99 1.8 - 1.75
2 Z| 0. 62 1.1 — 0.23
3 &l 0.03 0.9 — 0.01
7% igif T v RAK 18 3.93 2.0 - 2.43
2 Z| 0.98 1.3 — 0. 36
3E| 0.03 0.9 — 0.01




H£FBHIDESE

K=
EZBE T IR A Hhigk HET B bl
RIINE F1XE BINEFIET
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
648 g4 T v RAR 1E| 8.44 1.9 - 6.85
2 E| 6. 40 1.5 — 5.35
3 E| 4.65 1.3 — 3. 86
748 g4 Ty RAR 1E| 8. 81 1.8 - 7.33
2 F| 6.80 1.5 — 5.74
3 E| 511 1.3 — 4.30
EZBERTIE A Hh iz AT B bl
RIINE F1XE BINEMNZELH
T SEms | e | xEme | memER | BERH | ARY
sxpamns || BEE BEMEER R R
% % % %
648 g4 T v RAR 1E| 3.33 1.8 - 2.07
2 E| 1.53 1.1 — 1.15
3 E| 0.76 0.9 — 0.60
748 g4 T v RAR 1E| 4.98 1.6 - 3.87
2 F| 3.20 1.2 — 2.58
3 E| 1.96 1.1 — 1.56
EEFEA Hhiz et B thisg
RIINE 51X RINEBWh
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
648 g4 T v RAR 1E| 1.93 1.3 - 1.30
2 E| 0.77 1.0 — 0.53
3 E| 0.25 0.9 — 0.12
748 g4 T v RAR 1E| 2.64 1.5 - 1.75
2 F| 0.77 1.0 — 0.53
3 E| 0.25 0.9 — 0.12




H£FBHIDESE

x=
B R 5 et B e
SIIL ERLS) AIRAEED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 2.79 1.3 - 2.07
2% 1.50 1.1 - 1.12
3 0.57 1.0 - 0.34
74 A Ty AARX 1 &) 3.63 1.6 - 2.57
2% 1.85 1.1 - 1.39
3 & 0.57 1.0 - 0.34
e R 5 et B
AR F 1R BIIREFLHH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3.38 1.3 - 2.64
2% 1.94 1.1 - 1.48
3 0.80 1.1 - 0.48
74 A Ty AARX 1 &) 3.62 1.5 - 2.69
2% 1.63 1.1 - 1.25
3 & 0.72 1.0 - 0.48
B R ) R EE)
SIIL LS || B0 LT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 2.20 1.2 - 1.62
2% 1.09 1.0 - 0.83
3 0.44 0.9 - 0.30
74 A Ty AARX 1 &) 2.92 1.5 - 2.02
2% 1.39 1.1 - 1.02
3 & 0.44 0.9 - 0.30




H£FBHIDESE

x=
B R 5 et B
SIIL % 1 Kig B L B R
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 4.82 1.5 - 3.84
2% 3.18 1.5 - 2.26
3% 1.51 1.1 - 1.13
74 A Ty AARX 1 &) 4.62 1.5 - 3.65
2% 2.92 1.5 - 2.02
3| 1.27 1.0 - 1.01
e R 5 et B e
S F1RE | R AL E P RERT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 1.30 1.2 - 0.76
2% 0.29 0 - 0.07
3% 0.03 .9 - 0.01
74 A Ty AARX 1 &) 4.05 1.5 - 3.10
2% 2.15 4 - 1.36
3 & 0.80 0.9 - 0. 64
B R ) L)
I ERLS:) B SRV RS AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 1.70 2.0 - 6. 05
2% 5.48 1.5 - 4.47
3% 3.92 1.3 - 3.16
74 A Ty AARX 1 &) 6.70 1.6 - 5.52
2% 5.06 1.5 - 4.07
3 & 3.14 1.3 - 2.41




H£FBHIDESE

x=
B R 5 At B
= F 1R B R FIVERR 2 5 7K BT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 2.53 1.5 - 1. 64
2% 0.69 1.0 - 0.45
3% 0.23 0.9 - 0.10
74 A Ty AARX 1 &) 5.21 1.3 - 4.45
2% 3.83 1.2 - 3.19
3| 2.1 1.1 - 2.22
e R 5 et B
I % 1 Kig B R B L AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 8.13 2.2 - 6.24
2% 5.72 1.3 - 4.88
3 4.37 1.2 - 3.70
74 A Ty AARX 1 &) 5. 31 1.6 - 4.18
2 3. 46 1.2 - 2.83
3 & 2.42 1.1 - 2.01
B R ) L)
SIIL % 1 Kig A R 7OKET
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 6. 04 1.8 - 4.67
2% 3.76 1.2 - 3.12
3% 2.58 1.1 - 2.09
74 A Ty AARX 1 &) 5.85 1.5 - 4.83
2% 4.26 1.1 - 3.70
3 & 3.40 1.1 - 2.88




H£FBHIDESE

x=
BT RE 5 Rt B
SIIL ERALE B R B RESH
L ]| A

S S XIBEHE | smme | mepay | BRBRY R

~ sxmmmns | REE BEREE | RRE R
% % % %
64 A Ty AARX 1] 5.38 1.8 - 4.04
2% 3.04 1.2 - 2.43
3% 2.01 0.9 - 1.80
74 A Ty AARX 1 &) 4.95 1.5 - 3.96
2% 3.40 1.1 - 2.95
3| 2.92 1.0 - 2.59

BT 5 et B
AR F 1R =
L ]| A

S S IBEHE | smme | mepEy | BRBRY R

~ sxmrmns || REE BEREE | ERE R
% % % %
8 MEB(UFYURFR 18 1.76 1 - 1.37
2% 1.18 1.0 - 0.92
3 0.60 0.9 - 0.45




EFEMOAE
ING
BERRE g CREEE
AR F 1R =
NN I XIBEHE | smme | mepay | BRBRY RiaH
G = sxmrEns || REE BEREE | KEE By
% % % %
- A Ty RAARX 18| 11.26 1.6 - 9.89
2% 10.19 1.5 - 8.99
3 8.99 1.5 -

7.84




KFEROBE
WA IFA
TERRE o e B
AR 51X =
—_— cman | CPPEHE | smme | memaw | mEme RIEH
T = wp s || REE R AR s
% % % %
5% A Ty AARX 18| 10.07 2.0 - 8.32
2% 8.03 2.0 - 6. 36
3 5.40 1.8 -

4.06




H£FBHIDESE

ZzIE
ERIE fiT IR 4 Hhig HET B Gt
AINE £ 11X BIEERT
L =2y A
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18 9.67 2.0 — 7.94
2 F| 1.46 1.6 — 6. 25
3 &l 5.83 1.3 — 4.99
4 %5 igi4f T v o RAK 12| 9.44 2.0 - 1.72
2% 1.17 1.6 — 5.97
3E| 5.45 1.3 — 4.63
ERE fiT IR 4 Hhig HET B Gt
ANNE £ 11X BINEEET
L =2y A
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
3% igi4A T v RAK 12| 13.01 3.2 - 9.90
2| 9.82 2.0 — 8.08
3E| 1.46 1.6 — 6. 25
4 %5 igi4f T v RAK 12| 11.99 2.7 - 9.44
2% 9.09 2.0 — 7.38
3| 6.29 1.5 — 5.25
ERE AT IR 4 Hh iz #iEt B hig
AINE 1K AR/
L =2y A
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
3% igi4A T v RAK 12| 11.73 1.8 - 10.13
2| 10. 21 1.6 — 8.89
3E| 8.58 1.5 — 1. 45
4 %5 igif T v RAK 12| 10. 17 2.3 - 8.10
2% 1.76 1.5 — 6. 66
3| 6. 26 1.5 — 5.22




H£FBHIDESE

ZIX
EZBE T IR A Hhigk HET B bl
BINE £ 1RXig BIEREgRET
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 Ty o XAR 1E| 7.69 2.1 - 5.32
2 E| 4.69 1.8 — 3.38
3 E| 2.16 1.5 — 1.29
4% g4 Ty RAR 1E| 8.24 3.2 - 5.33
2 F| 4.7 1.8 — 3.40
3 E| 2.14 1.2 — 1.56
EZBERTIE A Hh iz AT B bl
RIINE F1XE AINE kM
T SEms | e | xEme | memER | BERH | ARY
sxpamns || BEE BEMEER R R
% % % %
3% g/ Ty o XAR 1E| 7.95 3.2 - 5.05
2 E| 3.73 1.3 — 2.97
3 E| 2.16 1.1 — 1.69
448 g4 T v RAR 1E| 8.43 2.7 - 6.03
2 F| 5.02 1.3 — 4. 21
3 E| 3.59 1.1 — 3.06
EEFEA Hhiz et B thisg
RIINE 51X BINEMESR
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
348 g4 T v RAR 1E| 13. 88 2.7 - 11.26
2 E| 11.32 2.0 — 9.52
3 E| 9.20 1.8 — 1.1
448 g4 T v RAR 1E| 11.00 2.3 - 8.90
2 F| 8.47 1.5 — 1.34
3 E| 6.99 1.5 — 5.92




H£FBHIDESE

zIE
#IERFIR B Hhig HRET B i ig
alllg %1 Xig ANE P
s | wmx | e | REme | mEmEw | mRER | REe
#Eﬁﬁﬁf}if@ﬁ%']‘% 7T=$E$ iﬁ*& = $ §EE$ §EE$
% % % %
3% g4 T v RARK 18 10. 71 2.7 - 8.21
2 Z| 7.38 2.0 - 574
3E| 511 1.5 - 4.12
448 g4 T v RARK 18 8.74 2.1 - 6. 32
2 Z| 5.50 1.5 - 4.49
3 &l 3.70 1.3 - 2.95
#IE R IR B Hhig HEET B i
alllg %1 Xig BIENELST™
s | wmax | s | REme | mEmEw | mRmR | REe
X IR EEAEE| S RAER REMER R R
% % % %
3% g4 T v RARK 18 13.22 2.3 - 11.03
2 F| 11.01 2.0 - 9.22
3E| 8.91 1.6 - 7.64
448 g4 T v RARK 18 12.23 2.0 - 10. 39
2 Z| 10. 48 1.5 - 9.27
3E| 9.37 1.5 - 8.20
H#IERT R 4 Hhis HET B Gt
alllg %1 Xig Y=
s | mmax | oenn | REme | mEmEw | mRmR | REe
spamns | BEE REWEE R R
% % % %
3% g4 Ty RARK 12| 1.74 2.7 - 5.36
2 Z| 4.65 2.0 - 3.12
3 &l 1.96 1.2 - 1.39
448 g4 T v RARK 18 10. 02 3.2 - 7.03
2 & 6.54 2.0 - 4.93
3E| 3.68 1.5 - 2.74




H£FBHIDESE

ZiE
B R 5 et B e
SIIL ERLS) AIRAEED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 9.10 2.0 - 7.39
2% 6.84 1.6 - 5.65
3 5.23 1.2 - 4.53
4% A Ty AARX 1 &) 1. 86 2.3 - 5.88
2% 4.88 1.3 - 4.08
3| 3.55 1.2 - 2.92
e R 5 et B
AR F 1R BIIREFLHH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 7.86 2.3 - 5.8
2% 4.88 1.3 - 4.08
3% 3.55 1.2 - 2.92
4% A Ty AARX 1 &) 1. 86 2.3 - 5.88
2% 4.88 1.3 - 4.08
3| 3.55 1.2 - 2.92
B R ) R EE)
SIIL LS || B0 LT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 7.86 2.3 - 5.8
2% 4.88 1.3 - 4.08
3% 3.55 1.2 - 2.92
4% A Ty AARX 1 &) 1. 86 2.3 - 5.88
2% 4.88 1.3 - 4.08
3| 3.55 1.2 - 2.92




H£FBHIDESE

ZiE
B R 5 et B
SIIL % 1 Kig B L B R
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 9.13 2.0 - 7.42
2% 6.87 1.5 - 5.81
3 5.53 1.1 - 4.92
4% A Ty AARX 1 &) 8.40 2.0 - 6.72
2% 6.32 1.3 - 5.46
3 & 5.21 1.1 - 4.62
e R 5 et B e
I % 1 Kig | R AL E P RERT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 7.86 2.3 - 5.8
2% 4.88 1.3 - 4.08
3% 3.55 1.2 - 2.92
4% A Ty AARX 1 &) 1. 86 2.3 - 5.88
2% 4.88 1.3 - 4.08
3| 3.55 1.2 - 2.92
B R ) L)
AR %1 X5 B)INEFVER S EHT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
sE  MEAVFyoRAR 18 7.66 18 - 6.23
2% 5.50 1.6 - 4.37
3% 3. 60 1.1 - 3.07
4% A Ty AARX 1 &) 8.12 2.0 - 6.45
2% 5.53 1.6 - 4.39
3 & 3.42 1.2 - 2.79




H£FBHIDESE

ZiE
B R 5 At B
= F 1R B R FIVERR 2 5 7K BT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
3 A Ty AARX 1] 10. 34 2.6 - 7.96
2% 1. 81 1.5 - 6. 71
3% 6. 35 1.5 - 5.31
4% A Ty AARX 1 &) 1.83 3.0 - 5.15
2 4.64 1.2 - 3.96
3 & 3.4 1.2 - 2.78
e R 5 et B
I % 1 Kig B R B L AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
3 A Ty AARX 1] 10.73 2.3 - 8. 65
2% 8.43 1.6 - 1.18
3% 6. 62 1.5 - 5.57
4% A Ty AARX 1 &) 1.50 2.3 - 5.55
2% 4.73 1.2 - 4.05
3 & 3.48 1.2 - 2.85
B R ) L)
SIIL % 1 Kig A R 7OKET
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
3 A Ty AARX 1] 11.04 2.3 - 8.93
2% 8.42 1.8 - 6. 96
3 6.45 1.5 - 5.40
4% A Ty AARX 1 &) 10.14 2.0 - 8.39
2% 8. 11 1.5 - 7.00
3| 6.70 1.3 - 5.82




H£FBHIDESE

Zid
HER R 5 et B e
I ERLS) B R B RESH
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
éjéfﬁﬁﬂfﬁgﬁguﬁ 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %

sE  MEAVFyoRAR 18 7.40 8 - 5.98
2% 5.52 1.8 - 4.17
3 2.94 1.3 - 2.22
4% A Ty AARX 1 &) 10.15 2.0 - 8.40
2% 1. 84 1.6 - 6. 61
3 & 6.33 1.3 - 5. 47




RFANORE
AA—bta—>
BERRE i it B
AR 51X alllg
N S TIRERE | same | menaw | BRRe IR
T = wp s || REE R AR s
% % % %
SE ME(LTysAFR  1H 4.35 1.2 - 3 68
2% 3.25 1.2 - 2.63
3 2.08 1.1 -

1.63




EFEEBORE
ERE
FER RS g et B
AR 51X =
NN S TIRBIEHE | smme | memEw | SRR RIH
T =% wp s || REE R AR s
% % % %
- iAo Ty RAAR 18| 0.22 0.9 - 0.09
2% 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01




EFENORE
MIFEL
TERRE ) LT
AR 51X alllg
. P TIRBIEHE | smme | memEw | SRR RIEH
T = wp s || REE R AR s
% % % %
- iAo Ty RAAR 18| 1.18 1.2 - 0.64
2% 0.16 0.9 - 0.03
3% 0.03 0.9 - 0.01




A2 (FERFROREZH5 L)

EBERTR £
alE
HEBNOIESE HRX 5 5l2AK Hhig X i
[EhivL & 9% g4 o Tv I RAR %1 X BIEORXE
1058 g4 Ty RAR F1 X AINEDXiE
pNED 148 2mFzEARX £ 1R IR0 XS
FHEZAN £ 1R IR0 XS
6% g4 Ty O RAR 1R BINEDORE
7 58 g4 o Tv O RAR £ 1R IR0 XS
8 8 i o Tv O RAR £ 1R IR0 XS
INE — g4 Ty O RAR 1R BINEDORE
WAITA 5%8 g4 o Tv o RAR %1 X BINEDORE
ZI1E 358 i o Tv O RAR £ 1R IR0 RXE
4 58 g4 o Tv O RAR £ 1R IR0 XS
Af—bta—v 3% g4 Ty RAR %1 RXig IR XS
f-FhE — g4 o Tv I RAR % 1R GIEDRXE
MEB » — g4 o Tv I RAR % 1R IR XS




	17_石川県
	告示-17石川県-01ばれいしょ-2インデ.pdf
	告示-17石川県-02大豆-1一般
	告示-17石川県-02大豆-2インデ
	告示-17石川県-03小豆-2インデ
	告示-17石川県-04いんげん-2インデ
	告示-17石川県-08そば-2インデ
	告示-17石川県-09スイートコーン-2インデ
	告示-17石川県-10たまねぎ-2インデ
	告示-17石川県-11かぼちゃ-2インデ

	別表２_17石川県

